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vt Two : Version A

gectlon A Reading Comprehension

Read the fqlluwlnn passage carcfully, and then answer the questions below it
Pullution &5 anY :"?“m““m"m '_:'m" environment which causes I1:|rr:|I to the environment :;r o its infabitants.
Thereare many kinds of pollution, and there are many polluting materials, or pollutants. Some obvious kinds
of pollution are pollution of the air, soil, and water, Some less obvious 'iu;iml:i:‘l:1 of pﬂl]l:lliun are noise, light

lution , and greenthoirse gasses (gases that cause rise in temperature of the carth's atmosphere).

5 Air pollution can be causcd by solid wastes, liquids, or gases that make the aic harmful to breathe.
There are two main types of air pallution : primary and secondary . Primary pollutants enter the air
directly, like smoke from factorics and car exhaust. Secondary pollutants are chemicals that mix
wogether 1o pollute the air, like mixtures of emissions, or waste output, from vehicles and factory
smoke that change o form more dangerous pollutants in the air and sunlight.

10 Soil pollution can be caused by pesticides (insects killer), leak from chemical lanks and oil spills.

|1 Water pollution can be caused by waste products, sewage, oil spills, and litter in streams, rivers,
lakes, and oceans. Same scienfists believe that water pollution is the largest cause of death and
disease in the world, causing about 14,000 deaths in the world each day.

14 Noise pollution can be caused by vehicle, aircrafl, and industrial noise. It has health effects on people
and animals. In people, i can cause high blood pressure, heart problems, sleep disturbances, and
bearing problems . [n animals, it can cause communication, reproductive, and pavigation problems
- they bave difficulty finding their direction.

and other anificial

I§ Light pollution can be caused by advertising signs, stadium and city lighting.

lighting (like the light caused by night traffic). Artificial lighting has health effects on humans and
animals. In people, it can cause high blood pressure and affect slecping - It might be a factor in some
and reproduction.

cancers, such as breast cancer, In animals, it can afect slecping, navigation,
N In addition, greenhouse gases have caused a warming ¢ffect on the carth's climate, The greenhouse

gases are water vapor, carbion dioxide, methane, and ozone. They're naturally-occurring gases in the
tration in the atmosphere. Although carbon

atmosphere, but human activity has increased their concen
dioxide is necessary for plants to survive, it is also considercd to be a kind of pollution because high

levels of carbon dioxide have caused the oceans 1o become more acidic.
21 There is general agreement, or consensus by scientists that humans nced to take steps to reduce

emissions of waste produets and greenhousc gascs into the atmosphere, and think about ways of
preventing the increase of pollution and global warming,
QUESTIONS: | me/ Kd (Lel)
I. What is an effect of artificial light pollution®
A, learing problems .
C High bloa i<t
2. What kind of pollution may a car cause?
A. Air pollution,

B. Low enerpy.
D. Both A and B3 are correct.

13, Light pollution.

5wl il 5 SO D. Noise pollution,

+ What kind of pollution is thought to cause the most death and disease?
A. Air pollution . B. Soil pollution .

C Warer pollution. D. Naise pollution.

4.The pronoun 'It' in line No. 20, refers 1o....
A. Pollution B, Sleeping
H D. "Iﬂh bi‘md Pﬂ:ssur:



m
, o n
Mﬂ o B. Smoke from factories,

“What is an exa 2 .
5 nd Care S D. Oil from oil spills,
C. Exhaust from '

& & lﬂ..-- . :
6. The pronoun §t* in. line No. 15, refers B. industrial noise
A. discase D. noise pollution
C. health effect
Type one @ version A

" E:ﬂ,s:ii:;r:;: n]:.ght pollution and carbon dioxide absorbed by plants

B factories, vehicles and sunlight
arg co
D. pollution, gasses and waste output
8. If you have a consensus, you have....

A. disagreement B. problems C. poltation  D. none of the shoye

9. The word ‘breathe’, as used in line 5, could best be replaced by....

A. burn B.inhalg C. blow D. exhale
10 Carbon dioxide is....
A. necessary for plant survival G ACa
C. a form of air pollution o D. a kind of greenhouse gas

Sectlon B: Grammar
Choose the correct answers.
11.The sentence 'Sam did his homework."is an afTirmative sentence whose negative o

A. Sam doesn't do his hemework, B. Sam didn't do his homework
C. Sam didn't have any homework. D. Sam hasn't done his homework
12. Both of my brothers are looking forward to ... back to Yemen.
A. came B. arc coming C.tocome D, coming
13. Mahmoud Al-Khawlany is the person ... father-in-law is my manager. -
A whose B. whom C. which D. who

‘14, Our neighbour angl his family ... their garden when we came home.

15. E };h- - E has been .cleaning C. has cleaned D. are cleaning
- B¥Yenalthings are expensive, most businessmen will continue ... new houses.

6 ﬁi; Sbuilding B building C. build D. builds
o WS YOURBET Sister drives badly, she hasn't made any accident so far.
o B. Alihough C.If D. But

17. Mai has a Bachelor \
s de - . . . -
“'ﬂrking ‘I'l'ilh rﬂftigntmlgru in tfﬂl:]'llng ﬁmb": . an :xp:rlenc: ﬂ.“d “—ammg s

A for
18. The swi ich i l
& swine m‘:' _:uhlch IS known as HINI, 5prcnt!5€n::!l:ll}f ’ >
19. I their frieng Frmid, I
e they would haye been very happif |
B. |
20. The sentence, 'She has Biven umm v semge whote

[ . iﬁ"
B Ur books : four books ' s an active sentence whose passive for™
We were given foy v her.

L3
C,w. . ur baoks by fe;
D Four o g 7 0 by e
N given 1o yg by hcrrl
— May Allah Grant You All Sucees?

163 . A



